Dim Matter Mass Calculations:

Star A:  1996


Dim Matter:
X-coordinate:  XSoA                       X-coordinate:  0           
Y-coordinate:  YSoA                Y-coordinate:  0.025SoA

((X2+(Y-0.025)2) = ZSoA
Z/3600 = ZDegrees
(9.46X1015) Sin(Z/2) = D/2

D = Distance from Dim Matter in meters
Star A: 1996


Star A:  1995

X-coordinate:  XSoA                       X-coordinate:  ASoA           
Y-coordinate:  YSoA                Y-coordinate:  BSoA

(((X-A)2+(Y-B)2) = RSoA
R/3600 = RDegrees
(9.46X1015) Sin(R/2) = E/2

E = Distance traveled from 1995-1996

{[(MStar)(V2)] / D} = {[(G)(MStar)(MDM)] / D2}




and           

        

E/(31,536,000) = V

                         which gives us:

MDM = [(V2D)/G]

